
X-sect = 1.283E-01(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   49934  Entries =   49934  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   49934  Entries =   49934  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   49934  Entries =   49934  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 1.287E+02   RMS = 3.360E+01
Tot # Evts =   49934  Entries =   49804  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 6.093E+01   RMS = 1.989E+01
Tot # Evts =   49934  Entries =   49859  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 3.418E+01   RMS = 1.530E+01
Tot # Evts =   49934  Entries =   49883  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG = 3.415E+01   RMS = 1.514E+01
Tot # Evts =   49934  Entries =   49887  Undersc =     0  Over



X-sect = 1.283E-01(pb)   AVG =-2.133E-02   RMS = 1.655E+00
Tot # Evts =   49934  Entries =   49841  Undersc =    49  Over



X-sect = 1.283E-01(pb)   AVG =-1.779E-02   RMS = 1.651E+00
Tot # Evts =   49934  Entries =   49829  Undersc =    59  Over



X-sect = 1.283E-01(pb)   AVG = 4.573E+01   RMS = 2.466E+01
Tot # Evts =   49934  Entries =   49740  Undersc =     0  Over


